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Reading Comprehention

Part [I Reading Comprehension (35 minutes)

Directions: There are 4 reading passages in this part. Each passage is fol-
lowed by some questions unfinished statements. For each of them
there are four choices marked A),B),C) and D). You should
decide on the best choice and mark the corresponding letter on the
Answer Sheet with a single line through the centre.

Example: Read the following passage.

Long before the Sioux migrated to the Dakotas from the east,
three sedentary tribes had settled along the Missouri River which bi-
sects the two states.

Of these, Mandans are believed to have arrived first, they once
occupied severd vidages of semisubterranean earth lodges in what’s
now south Dakota, but had moved farther north when discovered by
the explorers, Lewis and clark, in 1804. They were a Siouan lan-

guage group.

Question : What is the main idea of this passage?

A) The difference between two states.

B) The great diversity among American Indians.

C) Lewis and clark’s adventure.

D) The introduction of Mandans.

The passage said that Mandans, one of the three Sioux tribes lived in

South Dakota , and moved farther north . ’I‘here fore, you should choose answer
D).
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What is the main idea of this passage?

What can you infer from this passage?

The best title for this passage is
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What did the auther imply in this passage?

What did the auther mean by-+7

EIFABIE SR f FA), R AF X0 EEEMAT . BREH
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@ HEES BB SR REE A E GBS RS, X TR
18 , 58 H )R

What is the auther’s attitude to*--?

The tone of the passage maybe .

What does the author feel about ?

Q BYE, Ei—BEZEZLLUERBERE - F, —NEEH—
A, XEBMEAEERNE LT XURENESABEIERANA T, 85
E R E R BYE: )

HRAEEE

What does “*++” mean?

The word “+++” refers to

Which of the following has the closest meaning to “-++”?

The sentence:*+” implies that
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[EBAEHT 1]

More than 30,000 drivers and front seat passengers are killed or seriously
injured each year. At a speed of only 30 miles per hour it is the same as falling
from a third-floor window. Wearing a seat belt saves lives;it reduces your chance
of death or serious injury by more than half.

Therefore drivers or front seat passengers over 14 in most vehicles must
wear a seat belt. If you do not, you could he fined up to £ 50. It will not be up to
the drivers to make sure you wear your belt. But it will be the driver’s responsi-
bility to make sure that children under 14 do not ride in the front unless they are
wearing a seat belt of some kind.

However, you do not have to wear a seat belt if you are reversing your vehi-
clesor you are making a local delivery or collection using a special vehicle;or if
you have a valid medical certificate which excuses you from wearing it. Make
sure these circumstances apply to you before you decide not to wear your seat
belt. Remember you may be taken to court for notdoingso,and you may be fined
if you cannot prove to the court that you hare been excused from wearing jt.

1. This text is taken from .
A) a medical magazine C) a legal document

06-
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B) a police report D) a government information booklet
2. Wearing a seat belt in a vehicle
A) reduces road accidents by more than half
B) saves lives while driving at a speed up to 30 miles per hour
C) reduces the death rate in traffic accidents ’
D) saves more than 15,000 lives each year
3. It is the driver’s responsibility to .
A) make the front seat passenger wear a seat belt
B) make the front seat children under 14 wear a seat belt
C) stop children riding in the front seat
D) wear a seat belt each time he drives
4. According to the text, which of the following people riding in the front does
have to wear a seat belt?
A) Someone who is backing into a parking space.
B) Someone who is picking up the children from the local school.
C) Someone who delivering invitation letters.
D) Someone who is under 14.
5. For some people, it may be better
A) to wear a seat belt for health reasons
B) not to wear a seat belt for health reasons
C) to get a valid medical certificate before wearing a seat belt
D) to pay a fine rather than wear a seat belt

(RICE®]
@ at a speed of LA---BEE, U
at a speed of fifty kilometers an hour PAS/N} 50 23 B O3 B
at very low speed TR18 F)B I , I3
at top speed B, 2
@ by more than half XR—NEHAHARNEE, XA WSS L7, by
JE T AT 8 80F , more than, at least %, {0;
My salary went up by half when I moved South.
RIABHEHTERMT -4,

Increasing your reading time by 15 minutes each day.
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® fine T3, 7T LA FRYE & 18], W vl LARRYESDA], 0.
Offenders may be liable to a heavy fine.
FREEZAAREM TR,
The court fined him $ 500. BT 500 ET,

@ to be up to somebody F A FEE X F, W:
It’s up to us to help those in need.
RATVE FAEH BhA BRI A
It’s not up to you to tell me how to do my job.
REHTROTESHFRKE=HEDN,

® to excuse someone from (doing) something FEEFE AT X5 T3,
.
The teacher excused me from doing exercise because 1 had a cold.
HARBRE T, 2IWEFR AR
He was excused from punishment. fli6%F 5%,

[AEXE]

BEREBRAMNHREFEERTRCREZHOAREL 37
No IWEREER 30 KR AR EFRMIANEEHLETAN=EEHH
P ERETRARE ., REREWA URBRAEar, AT LA B E 2
LR AL E

BAEHREMNS, BRAM 14 F U EWATHRELHR ELLW, &
W2 2F 50 FHL LRTIR, BREFEMNHANAIHRERTR L
ZEWAAFRE. HR BRAATHEILLIERMHHFRTE 14 FUTHRE
R ERME2W, EWABLAERH .

AT R BRBEH A - RAL LW, LR ENNR, X2E
L AEREYME W(RY)  ERBRBAE REST R IER , EHAES
HERAELW. BE, RO +2HEERS LRFAXFER, BN, 4K
SPX ERE,

AR R R R EER R T AR RE W, Al B, X—
RRLIRECFE L o
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1. This text is taken from XREXEEAT o
[D] a govemment information booklet
— BB RE BHE UMEF) .
(R ] AEEBEESPXESERMES
2. Wearing a seat belt in a vehicle
FENRER2HW
[C] redules the death rate in traffic accidents.
B ZEEFR PR E,

[(®R] AEEZEEREREE—HMONE. X, B R MATHER
BR L REWEREEF N IR E S5,

3. It is the driver’s responsibility to

ANWRERE
[B] make the front seat children under 14 wear a seat belt.
FRIHEAR R 14 B BT R ERZ2W,

(&) 2EREXEB\XEMATOES, IRERTLWH BRI
FHE. MBFHABXE X —BXRFR LAREBEEE—ENE
F3CHHY to be up to somebody X —ifAlZH I BEAMR .

4. According to the text, which of the following people riding in the front does

not have to wear a seat belt?
WSO, IR ERTH LB M AR AR R L LW
[A] Someone who is backing into a parking space.
BEEEEEGROA,
5. For some people, it may be better
X —28 A, B o
[B] not to wear a seat belt for health reasons.
HTRR(SE)FER, A RELW,
(BR] AERTE3BRERO—NHY . — AT HELHERTUR
RESW BREEAIEH (3 RE—RTREMNAE).
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[BRERH 2]

If you want to stay young,sit down and have a good think. This is the re-
search finding of a team of Japanese doctors, who say that most of our brains are
not getting enough exercise—and as a result, we are ageing unnecessarily soon.

Professor Taiju Matsuzawa wanted to find out why otherwise healthy farm-
ers in northern Japan appeared to be losing their ability to think and reason at a
relatively early age,and how the process of ageing could be slowed down.

With a team of colleagues at Tokyo National University, he set about mea-
suring brain volumes of a thousand people of different ages and varying occupa-
tions.

Computer technology enabled the researchers to obtain precise measure-
ments of the volume of the front and side sections of the brain, which relate to
intellect(F4 HE) and emotion, and determine the human character. ( The rear
section of the brain, which controls functions like eating and breathing, does not
contract with age,and one can continue living without intellectual or emotional
faculties. )

Contraction of front and side parts-as cells die off—was observed in some
subjects in their thirties, but it was still not evident in some sixty-and seventy-
year-olds.

Matsuzawa concluded from his tests that there is a simple remedy to the
contraction normally associated with age—using the head.

The findings show in general terms that contraction of the brain begins
sooner in people in the country than in the towns. Those least at risk, says Mat-
suzawa, are lawyers, followed by university professors and doctors. White collar
workers doing routine work in government offices are, however, as likely to have
shrinking brains as the farm worker, bus driver and shop assistant.

Matsuzawa’ s findings show that thinking can prevent the brain from
shrinking. Blood must circulate properly in the head to supply the fresh oxygen
the brain from shrinking. Blood must circulate properly in the head to supply the
fresh oxygen the brain cells need. “The best way to maintain good blood circula-

tion is through using the brain, ”he says, “Think bard and engage in conversa-

.10.
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tion. Don’t rely on pocket calculators.

1. The team of doctors wanted to find out
A) why certain people age sooner than others
B} how to make people live longer
C) the size of certain people’s brains
D) which people are most intelligent
2. On what are their research findings based?
A) A survey of farmers in northern Japan.
B) Tests performed on a thousand old people.
C) The study of brain volumes of different people.
D) The latest development of computer technology.
3. The doctor’s tests show that
A) our brains shrink as we grow older
B) the front section of the brain does not shrink
C) sixty-year-olds have better brains than thirty-year-olds
D) some people’s brains have contracted more than other people’s
4. The word “subjects”in Paragraph 5 means
A) Something to be considered
B) branches of knowledge studied
C) persons chosen to be studied in an experiment
D) any member of state except the supreme ruler
5. According to the passage, which people seem to age slower than the others?

A) Lawyers. C) Clerks.
B) Farmers. D) Shop assistants.
[RCEE] .

@ finding EA“HE(IR)NER"  FATE. In:
The committee published its findings after a thorough investigation.
EZR2EMKREUE AR T AESER,

@ set about FrifK-- AR HEF T, W
She set about clearing up after the party.
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